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https://www.youtube.com/watch?v=R0oUeLQIbIk

November 12, 2019

U4D4 per1.notebook
You have $1 to invest for 1 year. The Exponential Bank offers to
pay 100% annual interest, compounded n times per year and
rounded up to the nearest penny.
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e is a special irrational number

e is for Euler, named after Leonard Euler, who is credited for this.
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Describe the transformation needed to transform g(x) = e* into the graph of the given function:
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To graph any of the above, create a table of values using your calculator...
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Describe the transformation needed to transform g(x) = e* into the graph of the given function:
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To graph any of the above, create a table of values using your calculator...
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If the population of the United States continues to grow _as it has recently, then the
approximate population of the United States (in millions) in yaag 1 Wwill be given by the function:
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